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Question Paper Code : R 83762

B.E/B.Tech. DEGREE EXAMINATION, NOVEMBER/DECEMBER 2009.
Third Semestor
Civil Engineering.

M 231 — MATHEMATICS — Il

(Common to all branches of B.E/B.Tech. except Civil Enginering and Computer
‘Based Construction, Industrial Bio Technology, Bio Medical, Textile Chemistry)

(Regulation 2001)
Time : Three hours Maximum : 100 marks
Answor ALL questions

PART A — (10 x 2 = 20 marks)

1. Findtho complee intogral of {5 +a
2. Solve: (D-20) (D-2D'+1)z=
5. State the Parecval’s ormula for f(2) defnod i (L)
4 I f)=sing -z <x <, Bada,
5 Clasiy the partaldifferential cquation
(64U 85+ 7412 + 102, 435, — 2, + 268020

6. A taut string of length 50 cm fastened at both ends, is disturbed from its
position of equilibrium by imparting to cach of its points an initial velocity of
magnitude ke for 0<% < 50. Formulate the problem mathematically.

7. Find the Laplace transform of f(t)=te” -
5 State the initial and final value theorems of Laplace transform.

1 |xl<a

9. Find the Fourier transform of /(x), defined as /(x): {n |x|>a

10, Tind the Fouricr cosine transform of f(x)= ¢, a>0.
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. @ @ Solve the ©quation x3(y .. 2D+ yiz- g =2(s- ).
DD D) o e

or

@ Solve the equation (o +2x
® 6 Solve the <auation pg+pyq.,

@ Solve (D% pppy, D%)e = conts - 3145, e
2 @ 0O Findge Pourier serios of f(y).. 4 in (-, ),
@ Find the Fourier gip, series of 7,

*Hr-x), 0<rey

Or
® @ Obtain the Fourier serigs of the function given by
=
e

S

@ Compute the fupgagnygy 204 Bt hamonies of g Foyey s
O F(<)in (0, 6) given by gy table
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Find the Laplace transform of the periodic function

OSISE and fl+20)= 1) ®

Solve. the differential equation 3"-2y'~8y=0, 30)=8 and

¥(0)=6 using Laplace ranstorm. ®
or
16y
Using convolution theorem, find £ — 10 ®
S ) 9
Solve x'=2v—3y, ¥/ = y-2x, (0) »and ¥(0)=3 ®
f1- z|<1
Find the Fourier transform of f(x)= Hence
. - A G
evatuats f ®
Evaloate | ®

Jean)

|x]<a
{ sl g " hence

®

Find the Fourier sine transform of ¢, 0 and hence show that

®




